Grammar Correction Model

Exercisel: Define the nature and function of the underlined words and
expressions. (3pts).
0.5 pt. for each correct answer
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Execise2: Complete the sentences with the appropriate quantifier. (5pts).
0.5 pt. for each correct answer
1 some

2 some

3 much

4 several / all

5 some

6 few

7 little

8 a few

9 little

10 many

Exercise3:Tick the correct answer. (3pts)
0.5 pt. for each correct answer

1¢C

2A

3¢C

4cC

5D

6D

Exercise 4:
A. Complete the sentences by choosing the correct order. (3pts)
0.5 pt for each correct answer
1.D
2. C
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B. Put the adjectives in the correct order. (1pt)

0.5 pt for each correct answer

1
2

David Beckham is a successful, rich young former British footballer.
Ulrika is a beautiful blonde Swedish TV presenter.

Exercise 5: Correct the mistake(s) in each sentence. (5pts)
0.5 for each correct answer

1
2
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no

hardly stays at home in the evening

0.25 pt 0.25 pt

a few

the smartest

much

This is an attractive modern brown German teak kitchen
a lift home after the party

doesn't often eat

carefully to school every day

10 more comfortable



